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SECTION-A
(MENTAL ABILITY)

1.

Which one of the following is the correct
electronic configuration of chlorine?

(@278 (b)2,8,7
(c)2,8,8 (d)7,8,2

The number of valence electrons in the O%
ion is:
(a) 4
(c8

(b) 6

(d) 10

In honey, which one among the following
sugars predominates?

(a) Surcose
(c) Galactose

(b) Fructose
(d) Maltose

Within an animal cell, the most abunadant
inorganic constituent of protoplasm is:

(@) Sodium and Potassium salt
(b) Water

(c) Iron

(d) Phosphate

During short-circuiting, the current flowing
in the electrical circuit

(@) Reduces substantially

(b) Does not change

(c) Increases instantaneously
(d) Vareis continuously

Two conducting wires A and B are made of
same matrial. If the length of B is twice that
of A and the radius of circular cross-section
of A is twice that of B, then their
resistanece Ra and Rg are in the ratio:

@2:1 (b)1:2
(c)1:8 d)1:4

The number of aluminium ions present in
54 g of aluminium (atomic weight 27) is:

(a) 2 (b) 18
(c) 1.1x10* (d) 1.2x10%
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10.

11.

12.

13.

14.

15.

The latest discovered state of matter is:

(@) Solid
(b) Bose-Einstein condensate
(c) Plasma (d) Liquid

What is ‘breakbone fever’ most commonly
known as?

(@) Typhoid
(c) Yellow Fever

(b) Rhinitis
(d) Dengue

After diagnosis of disease in a person, the
doctor advises the patient iron and folic
acid tablets. The person is suffering from

(a) Osteoporosis (b) Anaemia
(c) Goitre
(d) Protein energy mainutrition

Which one among the following is the coral
group of islands of India?

(a) Andaman (b) Nicobar
(c) Minicoy (d) Lakshadweep

Van de Graaf generator is used for
(a) Accelerating charged particles

(b) Generatig large currents

(c) Generating electric field

(d) Generating high frequency voltage

The most stable form of carbon is:
(a) Diamond (b) Graphite
(c) Fullerent (d) Coal

Which one among the following is not a
sexually transmitted disease?

(@) Syphills (b) Gonorrhea
(c) Scurvey (d) Hepatitis-B

The summer and winter season in a year
are caused by

(@) Aphelion (farthest) and perihelion (nearest)
postion of the Earth from the Sun during
the annual revolution

(b) Rotation of the earth on its axis
(c) Variation in solar insolation
(d) Revolution of the Earth on its inclined axis

10.

11.

12.

13.

14.

15.
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SECTION-B
(ENGLISH)

16.

17.

18.

19.

20.

21.

22.

23.

24.

Choose the correct synonym of the given
word from the option given below.
DEPOSITION
(a) Ascent

(c) Impeachment

(b) Employment
(d) Coronation

Choose the best antonym of the given word
from the options given below.

EQUIVALENT
(@) Comparable (b) Dissimilar
(c) Parallel (d) Identical

Choose the best antonym of the given word
from the options given below
CONTROVERSY

(a) Argument (b) Difference

(c) Agreement (d) Quarrel

Choose the MISSPELT word.
(a) Preservence (b) Possession
(c) Reference (d) Restarant

Choose tge MISSPELT word.
(@) Abundance (b) Absence
(c) Acclaim (d) Advertisement

Complete the sentence with the most
appropriate word. Students are not
expected to leave without .
(@) Tolerance (b) Indulgence
(c) Permission (d) Freedom

Complete the sentence with the most
appropriate word. I always arrive to class
twenty minutes so that | have
time to prepare.

(@) Late (b) Early

(c) Later (b) Behind time

Complete the sentence with the most

appropriate word. Making pies and cakes
Mrs. Kumar’s specially

(@) Have (b) Is

(c) Has (d) Are being

The following sentence is divided into four
parts (P, Q, R and S). Rearrange it in the
proper sequence in order to make a
meaningful sentence. (P) or car racing tests
(Q) And a car’s power (R) Automobile
racing (S) Both a driver’s skill

(@) RPSQ (b) QPSR

(c) RSPQ (d) SQPR

25.

26.

27.

28.

29.

30.

(4]

The following sentence is divided into four
parts (P, Q, R and S). Rearrnage it in the
proper sequence in order to make a
meaningful sentence (P) That is closely
related to the peach tree (Q) Almonds are
commonly called nuts (R) But they are
actually seeds (S) And they come from a
tree

(@) RPSQ
(c) SQPR

(b) QRSP
(d) SQPS

Choose from the four options, the word
that best defines/substitues the given
phrase. “A place where ships load and

upload goods”
(a) Port (b) Terminal
(c) Coach (d) Hangar

Choose from the four options, the word
that best defines/substitues the given
phrase. “The scientific study of the mind”
(@) Philology (b) Psychology

(c) Sociology (d) Anthropology

Choose from the four options, the word
that best defines/substitues the given
phrase. “A person or animal that eats all
kinds of food”
(@) Omnivorous
(c) Insectivorous

(b) Herbivorous
(d) Carnivorous

In the following question, some part of the
sentence may have errors. Find out which
part of the sentence has an error and select
the appropriate option. If a sentence is free
from error, select 'No Error’.

Soon as he(A)/saw the policeman,(B)/ he
ran away.(C)/No error(D) Option

(@A (b)B

(©C (d)D

Rearrange the parts of the sentence in
correct order.

We are told that its

P-Public Distribution System
Q-creating a functional

R-sole purpose is the noble goal of

(a) QRP (b) RQP

(c) PRQ (d) PQR



SECTION-C
(APITITUDE TEST)

31.

32.

33.

34.

35.

36.

37.

In a flash type ADC, employing 15
comparators resolution with 10 volts
reference, is expected to be:

(a) 0.625V (b) 0.666 V
(c) 0.525V

(d) Insufficient data

A noiseless 3 kHz channel can transmit
binary at the rate
(@) 12000 bps

(c) 6000 bps

(b) 10000 bps
(d) 3000 bps

A program component that allows
structuring of a program in an unsual way
is known as

(@) Correlation

(c) Diagonalozation

(b) Coroutine
(d) Queue

Before a disk drive can access any sector
record, a computer program has to provide
the record’s disk address. What
information does this address specify?

(@) Track number

(b) Sector number

(c) Surface number

(d) All of the above

EBCDIC can code up to how many
different characters?
(a) 8

(c) 64

(b) 16
(d) 256

The two main components of the CPU are:
(@) Control unit and registers

(b) Control unit and ALU

(c) Registers and main memory

(d) ALU and bus

The graphs of the two equations

y =ax’ +bx+candy = Ax* +Bx+C, such
that a and A have different signs and that
the quantities b> —4acand B*—-4AC are
both negatives.

(@) Intersect at two points

(b) Intersect at one point

(c) Do not intersect

(d) None of the above

(5]

31.

32.

33.

34.

35.

36.

37.

Foler Y & ADC #, 10 dlee s & @iy

15 JeeaRs e e s @ saar
g Jnafda ¥

(a) 0.625 V (b) 0.666 V

(c) 0.525 V (d) 3roratea der

tafRRaT 3 kHz Yo ___ 3aelt v &
TAEAY AYUT FIT FhT B

(a) 12000 bps (b) 10000 bps

(c) 6000 bps (d) 3000 bps

TH NIH Teh Sl FAHAT AR T AT FHY
TIGAT A AT &, 3/ Fed ¥

(a) TgHeY (b) rEcrT

(c) faeroter (d) d9feFa

s 3 gga R a9 RaE & vaw &
T T @, FU NaA REE B
U &1 AIRT | I 9T FAT ATAHRY T §72
(a) ¥ T (b) Ve TEAT
(c) $cTel TLaT

(d) 30R0ad # & T

EBCDIC faa faffieer audit & #iz fFw
ST Fha §7?

(a)8

(c) 64

CPU & aI &Y U<H ¢
(a) faTaoT The 3R IToER
(b) TT=oT T 3R ALU
(c) IoreeT 3R #ET wfa
(d) ALU 3R sd

&Y gAEIT y =ax’ +bx +c 3R
y=AX*+Bx+C&% 1%, S a 3R A &
feg @ §b° —4ac 3t B —4AC TfT 3k
aafea &

(a) & g3 W gfaedg X &

(b) Tw fig W gfaeoe X &

(c) gfaese e #Xd ¢

(d) 3RFT H T HIS 8T

(b) 16
(d) 256




38.

39.

40.

41.

42.

43.

44,

45.

If f(x) is an odd function, then [f(X)| is
(a) an odd function

(b) an even function

(c) neither odd nor even

(d) even and odd

Materials for rain-proof coats and tents
owe their water-proof properties to

(a) surface tension (b) viscosity
(c) specific gravity (d) elasticity

The period of |sin(3x)| is
(@2x (b)2713
(c) =13 (d)3r

Magnetism at the centerof a bar magnet is:
(@) Minimum (b) Maximum

(c) Zero

(d) Minimum or Maximum

Light year is a unit of
(@) Time
(c) Light

(b) Distance
(d) intensity of light

If the speed of the DC generator is
increased, the generated emf will:

(@) Increase (b) Decrease
(c) Remain constant
(d) Decreases and then increases

The rotor of the alternator requires
(@) DC (b) AC

(c) Pulsating DC

(d) None of the above

It is more difficult to walk on the beach
than on concerete road because

(a) Sand is soft and concrete is hard

(b) Friction between sand and feet is less than
that between concerte and feet

(c) Friction between sand and feet is more than
that between concrete and feet

(d) Sand is grainy but concrete is smooth
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46.

47.

48.

49.

50.

51.

52.

53.

If DC supply is given to a transformer, it
will:

(@) Work

(b) Not work

(c) Give lower voltage than the rated voltage
on secondary side

(d) Burn the winding

Synchronous motor generally has:
(@) Cyllindrical rotor

(b) Salient pole rotor

(c) Both (a) and (b) are correct

(d) None of these

The most commonly used bleaching agent
is:

(@) Alcohol
(c) Chlorine

(b) Carbon dioxide
(d) Sodium chloride

The octane of zero is assigned to:
(@) 2-methyl octane (b) n-heptane
(c) Iso-octane (d) 3-methyl octane

The DPT vaccine, a mixture of three
vaccine is given for immunization of three
medical conditions:

(a) Diptheria, Pneumonia, Tuberculosis
(b) Diptheria, Pertusis, Tetanus

(c) Diarrhoea, Pertusis Tuberculosis
(d) Diptheria, Pneumonia, Tetanus

Refrigeration is a process in which
(a) Bacteria are destroyed

(b) Growth of bacteria is reduced

(c) Bacteria become inactive

(d) Cytoplasm of bacteria contract

BOD is:

(a) Biological oxygen deficit
(b) Biological oxygen demand
(c) Biosphere oxygen demand
(d) None of the above

Composition of HSS tools can be:
(@) 18% W, 4% Cr, 1% V

(b) 4% W, 18%Cr, 1% V

(c) 1% W, 4% Cr, 18% V

(d) 10% W, 10% Cr, 10% V
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54,

55.

56.

57.

58.

59.

Cast alloys known as Stellites are
(a) Non-ferrous alloys

(b) High carbon alloys

(c) High tungsten alloys

(d) High chromium alloys

Use of cutting fluid during metal cutting is
desired to

(@) Reduce the rigidity of chips

(b) Reduce the coefficient of friction between
chip and tool

(c) Reduce the temperature rise due to cutting

(d) Reduce the cutting velocity

Cutting velocity is:

(a) Velocity of the tool relative to the work
(b) Velcoity of the chip relative to the tool
(c) Velocity of the chip relative to workplace
(d) Not related to the effective cutting speed

The mechanical comparator can be used to
measure the

(a) External diameter
(c) Angular dimension

(b) Internal diameter
(d) All of these

An advantage of permanent magnet moving
coil instrument is that it is

(a) free from friction errors

(b) has high (torque/weight of moving parts)
ratio

(c) has low (torque/weight of moving parts)
ratio

(d) None of these

Which of the following materials is used in
the fabrication of swamping resistance of a
PMMC instrument?

(@) Copper

(b) Aluminium
(c) Manganin
(d) Tungsten

(8]
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60.

61.

62.

63.

64.

65.

66.

The forces which meet at one point and
have their lines of action in different planes
are called

(a) Coplanar non-con-current forces
(b) non-coplanar con-current forces
(c) non-coplanar non-current forces
(d) intersecting forces

The locus of the instantaneous centre of a
moving rigid body is:
(a) Straight line

(c) Centroid

(b) Involute
(d) Spiral

A projectile is thrown at an angle a to the
horizontal with a velocity v. It will have the
maximum centripetal acceleration

(a) at the start

(b) at the top of the trajectory

(c) as it strikes the ground

(d) elsewhere

The total time of collision and restitution of
two bodies, is called

(@) time of collision

(b) period of collision

(c) period of impact

(d) all of the above

A string of length 90 cm is fastened to two
points A and B at the same level 60 cm
apart. A ring weighing 120 g is slided on the
string. A horizontal force P is applied to the
ring such that it is in equilibruium
vertically below B. the valueof P is:

(@40g (b) 60 g

(c)80g (d) 100 g

A pilot flies a small plane in a vertical loop
of radius r. At the top of its trajectory he
expeinces weightlessness. If the acceleration
due to gravity is g, the speed of the plane at
the top of its trajectory would be

(@) Zero (b) Infinite
(c) ar (d)2gr
20% of 2 is equal to

(@) 20 (b) 4
(c)0.4 (d) 0.04

&)
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67.

68.

69.

70.

71.

72.

73.

74.

75.

A sum of money at simple interest amounts
to Rs 2240 in 2 years and to Rs 2600 in 5
years. What is the principal amount?

(a) 1000 (b) 1500

(c) 2000 (d) 2500

The view toolbar will position the view of
the 3-D solid towards the

(@) Front (b) Left side

(c) SE isometric (d) All of these

In pneumatic comparators the air used is at
(a) Atmospheric pressure

(b) Above atmospheric pressure

(c) Negative pressure

(d) Below atmospheric pressure

In Ultrasonic machining the tool is vibrated
between the frequencies of:

(@) 1and 5 kHz (b) 5and 10 kHz

(c) 10 and 15 kHz

(d) 15 kHz and higher

The circumfrences of two circles are in the
ratio 4:5 what is the ratio of the areas of
these circles?

(@4:5 (b) 16 : 25

(c) 64 : 125 (d)8:10

A line with a tapering width can be easily
created by using the tool.
(@) Circle (b) ellipse

(c) Line (d) Polyline

In order to set drawing limits for a “C” size
architectural drawing the drafter should set
the limits to
(@0,0and 2,9
(c)0,0and 18, 24

(b) 0,0and 17, 11
(d)0,0and 34, 24

cannot sustain much voltage
fluctuations
(@) Sodium vapour lamp
(b) Mercury vapour lamp
(c) Incandescent lamp
(d) Fluorescent lamp

Permittivity of free space is equal to
(a) 8.854x10°F/m (b) 8.84x10™*F/m
(c) 9x10°F/m (d) 1 F/m

[10]
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76.

77.

78.

79.

80.

81.

82.

Which of the following statements
regarding single-phase induction motor is
correct?

(@) It requires only one winding

(b) It can rotate in one direction only

(c) It is self starting

(d) It is not self starting

In a delta network each elements has value
R. The value of each element in equivalent
star network wil be equal to

(@) R/6 (b) R/4

(c) RI2 (d)R/3

In single phase rotary converter the number
of slip rings will be:
(@) Two
(c) Four

(b) Three
(d) Six

If the fault current is 2000 A, the relay
setting is 50% and CT ratio is 400 : 5, then
plug setting multiplier will be:

(@ 10A (b) 15 A

(c)25A (d)50 A

A rectangular waveguide in dominant TE
mode, has dimensions10x15 cm, the cut off
frequency is
(@) 10 GHz
(c) 15 GHz

(b) 1 GHz
(d) 25 GHz

What is the name of the fluroscent material
that gives red colour fluroscent?

(@) Zinc silicate

(b) Calcium silicate

(c) Zinc sulphide

(d) Magnesium silicate

A 100 W bulb is concered in series with a
room heater. If now 100 W bulb is replaced
by a 40W bulb, the heater output will

(a) Decrease (b) Increase

(c) Remain the same (d) unjustified

[11]
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83.

84.

85.

86.

87.

88.

89.

90.

Absorption of ink by blotting paper
involves

(a) Viscosity of ink

(b) Capillary action phenomenon

(c) Diffusion of ink through blotting
(d) Siphon action

In electronics the terms IC denoted

(@) Industrial control

(b) Integrated circuit

(c) Internal combustion
(d) Integrated conductance

The forbidden energy gap in
semiconductor:

(a) Lies just below the valence band

(b) Is the same as the valence band

(c) Lies just above the conduction band

(d) Lies between valence band and conduction
band

A zener diode has a

(a) High forward voltage rating

(b) Negative resistance

(c) High amplification

(d) Sharp breakdown voltage at low reverse
voltage

Dynamometer type instrument may be used
on:

(@) AC only

(c) both AC and DC

(b) DC only
(d) none of these

Electromotive force (emf) of voltage source is
called as:

(@) Terminal voltage when load is applied

(b) Internal voltage when no load is applied

(c) Product of internal resistance and load
current

(d) Electric pressure provided to the load

The Condition in Ohm’s law is that

(a) The temperature should remain constant
(b) The ratio of /I should be constant

(c) The temperature should vary

(d) Current should be proportional to voltage

A series circuit has R = 10Q2, L =0.01 H and
C = 10uF . The Q-factor is:

(a) 100 (b) 10

(c) 115 (d) 10.1

[12]
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